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IB Chemistry SL Unit 0 Practice

Significant Digits

1)
2)
3)
4)
5)
6)
7)

8)

9)

The measurement, 206 cm, has how many significant (measured) digits? >

The measurement, 206.0 °C, has how many significant digits? 4

The measurement, 0.00206 g, has how many significant digits? 3,

The measurement, 0.0020600 mole, has how many significant digits? O

The measurement, 2.060 x 10  coulombs, has how many significant digits? ’-1

The measurement, 20600 molecules, has how many significant digits? 3

Add the following three numbers and report your answer using significant figures:
25¢cm+050cm+0.055cm=? %935 - Z{cm

Subtract the following numbers and report your answer using significant figures:
416g-210.g="? 2009 b

Multiply the following three numbers and report your answer to the correct number of significant figures:
0.020cmx50.cmx11.1em=2? -1 - |lopa

10) Divide the following three numbers and report your answer to the correct number of significant figures:

0.530g/0.1010mL=? 5295 ~al

Propagation of Uncertainties
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Adding and subtracting values: Rule: Add uncertainties!
1) 1.00 £ 0.05 g of Copper is added to 10.00 g + 0.05 g of Iron. What is the mass of the two, together?

1|.0O 1 0-10 &~ keeg 2 s goe deAd loose siy
2) The starting volume on a buret is 40.00 + 0.02 mL. The final volume on the buret is 32.60 £ 0.02 mL.

What volume of liquid was removed from the buret? 740t .ol

3) The weighing boat weighs 2.45 + 0.01 g. The total weight, after adding Calcium Carbonate to the
weighing boat is 4.62 + 0.01 g. What is the mass of the calcium carbonate? Z 11X 0-02 ?,\

Multiplying and dividing by a constant value (constant value means the value has no uncertainty). Rule: Multiply

or Divide the uncertainty by the constant value (in other words, do the same thing to the uncertainty that you did to the valuel)
1) Unit conversion

a) How many milligrams is 0.000120 + 0.000005 g?

b) How many milligrams is 1.20 x 10™ + 5 x10°® g?

c) How many milligrams is (1.20 # 0.05) x 10 g?

d) All of the above are the same problem, which is the best way to write the question?

2) Mole conversions
a) How many molesin 12.01 % 0.02 g of Aluminum?

b) How many atoms in 1.45 + 0.04 moles of Aluminum?

\

¢) How many atoms in 3.24 + 0.01 g of Aluminum?

Multiplying and dividing when both values have uncertaint
the problem, 2) Add the fractional uncertainties together 3) Find the abso
of step 2) times the desired quantity.

1) Molarity: Calculate the molarity when 2.0 + 0.1 moles of NaCl is dissolved in 100. + 1 mL of water.

2} Density: Calculate the density of an object with mass 25.0+ 0.2 g and volume 50.0 + 0.5 mL

3) Density: Calculate the density of a rectangular objec
width of 2.25 + 0.05 cm and height of 3.35 + 0.05 cm.

Y Rule: 1) Find the fractional uncertainty for each value given in
lute uncertainty of the desired quantity by multiplying the result

t with mass of 32.0£ 0.2 g, length of 1.25 £ 0.05 cm,
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